Total No. of Printed Pages—7
1 SEM TDC GEEC (CBCS) GE 1

2024

( November )

ECONOMICS

( Generic Elective )
Paper : GE-1

( Introductory Microeconomics )

Full Marks : 80
Pass Marks : 32

| Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. w5 Tewd IR SRreq/vae i TRy ved
Pl sollo 1x8=8

Choose the correct answer/Answer the
following questions :

(@) S Rwme «ow/Rdva o I
&1 ?
What do you mean by the problem of
choice in economics?
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(b)

(c)

(d)

(e)

(9)

(h)
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WS R yo we@ e & @2
What do you mean by free market in

economics?

RReors @19 vigear o |

Define indifference curve.

RISGEIIESCO e

What is change in demand?

TR I B g 2
What is long run?

2ANfEE TeAwg e frar |
Define marginal production.

ASPE TR 9B Tz o o

Give an example of substitute product.

HIfee Teomm 2'e
Marginal production is
£ T
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(iz)

(iv)




(3)

2. wEe fhacaras @ ceen st eo@s 5y G @
(B 150 == fSo79) ! 474=16

Write short notes on any four of the following
(within 150 words each) :

(@) 9 F
Opportunity cost
(b) TS wfE

Economic model
(c) e adfeTs= 2
Marginal rate of substitution

(d) CFCHONI TSI
Monopoly market

(e) (o9 TF PRI AEGS BH

Choice between leisure and
consumption

wete fir 2poTes Tes fordr (21f9ch1 500 19 feess) :

Answer the following questions (within 500 words
each) :

3. (@) LIS Remy BHG Sowen Tag 34 | 9=
R REeEy ove wive 24 fSfH61 em
Eircim I B i Ol SR TS R
S=FTH! A 41 | 3+3+6=12

P25/238 ( Turn Over )



4.
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Write three objectives of economics.
Discuss the main three problems of
economics. Explain the relationship

between scarcity and choice.

%<1 / Or

(b) WA wfRSTEE euw  CIfEPER o
I Ao Remgas Rfen R T

6+6=12

{0

Discuss the main features of economic
models. Explain the various approaches
to microeconomic analysis.

(@) FEers @R Remas REe  Ueed
Sl foqs RIS HICEval FHI |

Discuss the consumer equilibrium with
the help of indifference curve analysis

using suitable diagram.

<1 / Or

(b) AICEG @ Jeea & o2 FRerE @R vE
7 e =7, foas e 3= o | foeers

bl

QR 244w IPFEPER SEY 91 | 2+4+5=11

What is budget line? Why does an
indifference curve slope downward?
Explain with suitable diagram. Mention
the main features of indifference curve.

( Continued )



(b)

6. (a)
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IfEsre wifem w# @@ sifEw 3fwa & 57

AREsTe Bt o[ qEE SR @ee SEA

IR R, ag sm@me wcewar #4010 T

wﬁmmcmwﬁm
|

What are individual and market

demand curves? Discuss the derivation
of market demand curve from individual
demand curve with appropriate
diagram. Mention the factors affecting
market demand curve.

¥ /Or

ToceTe e TedAmmeial Tge gt g ?
ToreTel SF BeommeRl Tges qel 1ol o
FRAS AL F1 |

What is consumer and producer
surplus? Discuss the concepts of
consumer and producer surplus with
the help of suitable diagrams.

() 5 T @R [ AEFE AW
@A 29 FRE AR, [ 40|

Explain the derivation of the
long-run cost curve from short-run
cost curve.
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(i) QY AfSHIEy SR A[CE LG (Bl

SENYR AT AT | 6
Explain the conditions for a firm to
attain equilibrium.

YT /Or

(b) T T AfSIIH (@ TS
ITETS . ©IPTET e FE, Paw TEEe
HICHAB 7 | il

Discuss the process of a firm’s
equilibrium in long run and short run
with the help of suitable diagarm.

7. (a) SR Y[EACI5] HICADA 1 3+3+3+2=11

Discuss the ideas given below :
Q) 3R = =P Iw=
Land and labour market
(i) AN wifzw
Demand for labour

(iti) AfSTTOTe ATt I=_

Competitive labour market

(iv) TR ISR FF IE=QT AifS
Labour market and public policy
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s
&9/qr / Or
(b) N9 AfF TeoAmAAETS SFGol TR
S[CAB 4T | 11

Discuss critically the marginal
productivity theory of labour.
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